TIMER (KE)

T (1
0 T (2)
PE¢ 75 JLiEAXE H=0. 6m i
L =286 2rm PE¢ 75 ULiE As H=0.6m
- ' &1 L=9.8m XXEHI
AIE == ,
o i o PR 2 =1 = #&H=&
550 XHHEEROE IH W IS W TIEOE IR Y &
[ [ 550
{ w _
| | sy
As | As =
W7 S KRR 9]
o« — o
s S b ‘
lJILFﬁi g E «© | ,ﬁfﬁi § g
RE S ~
| g 2 RED -1
S S
it S
- 2

FRIEV =286.2x0.55x0.79=124.4m3
HEEIEA=286.2x0.55=157.4m2

REM V =286.2x0.1532=43.85m3

ALV =286.2x0.55x0.20=31.48m3
FELTNSV =124 4- (31.48+-0.9) =68.43m3

BR#& (RC—40) t =30cm A=286.2x0.5=157.4m2

AsEHZERRUIBT t =5cm L =9.8x2=19.6m
AsTEf t =bcm A =19.8x0.55=10.89m2=0.54m3
FR#EV =9.8x0.55%x0.74=3.99m3
EEmBEIFA=9.8x0.55=5.39m2
REMV=9.8x(0.55%x0.29-0.045%x0.045%x 7)=1.501m3
JRALV=9.8x0.55%x0.20=1.078m3
FHELTMSV=3.99- (1.08+0.9) =1.2m3

TRE®R#E (RC—40) t =15cm A =9.8x0.55=5.39m2
LTEREE (M—30) t=15cm A=9.8x0.55=5.39m2
BR#EV =9.8%x0.55%0.05=0.27m3
AREEIFA=9.8x0.55=5.39m2

AsBiZZ t =5cm A =9.8x0.55=5.39m2
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AsEBHERRYIBT t =bcm L =2.0x2+1.0=5.0m
AsHiFEt =bcm A=2.0x1.0=2.0m2=0.1m3
FRIEV =2.0x1.0x1.34=2.68m3
EEBEFA=2.0x1.0=2.0m2
REMV=2.0x(1.0x0.29-0.045x0.045x w)=0.57m3
FALEV=20x1.0x0.80=1.6m3
EELTNSV=268-(1.6-0.9) =1.24m3

TE®K#E (RC—40) t =15cm A=2.0x1.0=2.0m2
rtE®HE (M-30) t=15cm A=2.0x1.0=2.0m2
FEEEA=2.0x1.0=2.0m2

AsgizE t =bcm A=2.0x1.0=2.0m2
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